& %y 7hx o @57} obd 2L

@ 729] 017} vom, A2 Aol dem 91 ARG ] Holt
yem? o]t}

F 7ol 200 Sh= =3 x 7HO] ZH2 y o]t

BAT

©® ® © O
i
o)
)
o,
=
rO
o
rr
<
O,
o



]

>

2. x99 #el 1,2,3, Y @Ol a,b,c,d 2 W, (X,Y) 2 o] FoA=
ol obd A& A 2H?

@ (1, ¢) @ (3, d) ® (2, b)
@ (3, e) ® (1, a)



o
ﬂA_.ﬁ O#E
o] W
T o))
A 5R

o r—

mm Nlo
R
=
raalimy

mH
R

o N ,_ﬂ.

o

@ B(-3,0)

O A(-2,3)

@ D(-3,2)

® C(-1,-2)

® E(3,1)



7} g}

sfofat.

:Il

y = ax 9] 712
=

1
)= B
4 a o 3k

[

4.

.

ul



e % W4y = 2(a#0) o 2oz g o gL AL BE
Zefet.

@ 9H8E Adrh

© y = x o ¥R,

© a>0 O A 1 AHEHI}, A 3 AHE
® x o] gkol F7F o, y o] Rk 4 Sk

® A (a, 1)= Adt

)
filo
>,
L
&=




@ Lol disto] iAot
@ A (1, -6)8 Adr}

@ Al 1 ARZHI, A 3 AREHZ A




& 4
.—“TJ‘UQL

v

2~
T

L

flx) = x—3,g(x) = 4x ol tHst £(8) + g(1) ] 7= 5t



o

TS0 =5 =10l Heked £(3) = —4 D o 0 9] kS Foteier,

b

a

1L



9. f(x)=3x-19 =gl -4, -1, 2 A 0], x] Fo] o2 F5tofzh

D L
=%



10. o

o
47 % 52 AL

oo
rlo

O xZE7t FgolH Al 2AHEH E= Al 3AHEHO &3t
@ A (5, 0)& A 1AW $]9] Holc},

® A (3, - 1) Al 3AHEH 910] Holk,

@ yHB7} SO A 1AREE e Al 242 0] &3t

® x% 919 He y3rE7} 0oleh,



11. y7bxoll Aulsts, 1 0] 2R 7} (2,6)& A

EEY)

O y=x

@ y="7x

@ y=3x

® y=9x

1
=

® y=5x

),



12. Al A (a, 4), (-1, b), (c, 8)°l &5y = 4x ] I o] HL o,
a+b+c o g& Fstolet

D
=%



(3. —4). (c. 8) < A ), abe ©] L& Fafodat,



14.
y 7} x o ¥halg|ska, 11 g o)
Z7h %A (2, 4) (

i
, a %< orH?

® -14
@ -15 ® -16
- @ -17

® -18



15.

® y=|2x|

@ y=x+2

O y=lx|

® y=3x

@ y=2x+1



16. 3 P(ab, be) 7t dol obd x 5 9ol d= W, a+ b+ ¢ & 27

D a @ a+b ® b+c @ c+a ®a-c



17.

Pla, b)7} Al 4412 ]

©9

O Al 1AHEH

@ A 4142w

pagel

=

=

@ A 2AHEH

® Al 5AREH

o, & Q(ab, a—b) 7} Y2|5H= AHEH

@ Al 3AHEH



@ y=2x
5
@ yz—zx

x Fofl 77k L 2=

® y=—-4x



@ -16 ® -10

O -32



% 9)9)

1
olo] Hol 3, B(ib—4, b) by

=
=

A(a, 6 -2a) 7} x

|
=

20.

)

@ 20 ® 24 @ 36 ® 48

O 18



21. FEFH Yo F M A(Ba+2,-2b—1),B(=5a+6,3b+2) 7} Yo
tfote] th D o, a + b o] G227

@ o @1 ® 2 @ 3 ® 4



22.

ohe 27 o] §4 y = 3x ©] T 9o

= A Aa, 9), B(b, 15) 7} 912 of, A<t

HEo] go]=?
i o .

@ 20 @ 21 ® 22
@ 23 ® 24

yl
15

[ R

Ry



23. The TREy = x%hy = Lo aefmolnt. F 2efur}

PO x#E7F -19 0, a9 §2?

y:_%x Ay
P
: T
-10 >
_Qa
=5
2 4 5 7
© ~3 @ ~3 ® ~3 @ -3 G -

wl oo



